ORIGINAL

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 October 2008 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 311/1	API No. 15 - 103-02983-00-01
Name: Continental Operating, Co	Spot Description:
Address 1: 1 Houston Center, 1221 McKinney, Ste 3700	SW _SW _NE _ Sec. 5 Twp. 8 S. R. 17 ☐ East ✓ West
Address 2:	2970 Feet from North / South Line of Section
City: Houston State: Tx Zip: 77010 +	
Contact Person: Greg Mitchke	Footages Calculated from Nearest Outside Section Corner:
Phone: (713) 209 - 1110	□ne □nw ☑se □sw
CONTRACTOR: License #_32128	County: Rooks
Name: Western Well Servicing	Lease Name: Emery Well #: 1
Wellsite Geologist: none	Field Name: Lone Star
Purchaser: Plains Pipeline, L. P.	Producing Formation: Arbuckle
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:
New Well Re-EntryWorkover	Total Depth: 3330' Plug Back Total Depth:
Oil SWD SIOW	Amount of Surface Pipe Set and Cemented at: 122 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? Yes No
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set: Feet
Dry Other (Core, WSW, Expl., Cathodic, etc.)	If Alternate II completion, cement circulated from:
If Workover/Re-entry: Old Well Info as follows:	feet depth to:w/sx cmt.
Operator: V. D. Sidey Oil Co	
Well Name: Emery #1	Drilling Fluid Management Plan OWWO - AIT I NUL (Data must be collected from the Reserve Pit) 10-14-09
Original Comp. Date: 3-29-52 Original Total Depth: 3330'	Chloride content:ppm Fluid volume:bbls
Deepening Re-perf Conv. to Enhr Conv. to SWD	Dewatering method used: Vac truck
Plug Back:Plug Back Total Depth	•
Commingled Docket No.:	Location of fluid disposal if hauled offsite:
Dual Completion	Operator Name: Continental Operating Co
Other (SWD or Enhr.?) Docket No.:	Lease Name: Stamper C License No.: 31171
3-13-52 4-13-09 3-29-52 4/15/09	Quarter_NE Sec. 8 Twp.17 S. R. 32 East West
Spud Date or Recompletion Date Date Reached TD Completion Date or Recompletion Date	County: Rooks Docket No.: E26, 843-0003
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workover or co of side two of this form will be held confidential for a period of 12 months if requitiality in excess of 12 months). One copy of all wireline logs and geologist well BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 for	unversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information uested in writing and submitted with the form (see rule 82-3-107 for confiden-II report shall be attached with this form. ALL CEMENTING TICKETS MUST
All requirements of the statutes, rules and regulations promulgated to regulate the are complete and correct to the best of my knowledge.	ne oil and gas industry have been fully complied with and the statements herein
Signature: Gregory A. Wittschke 9/14/09	KCC Office Use ONLY
Title: Senior Vice President Date: Date: Subscribed and sworn to before me this Ath day of Subscribed and sworn to before me this Ath day of Subscribed and sworn to before me this Ath day of Subscribed and sworn to before me this Ath day of Subscribed and sworn to before me this Ath day of Subscribed and sworn to before me this Ath day of Subscribed and sworn to before me this Ath day of Subscribed and sworn to be subscribed and subscribed	Letter of Confidentiality Received If Denied, Yes Date: Wireline Log Received KANSAS CORPORATION 2 8 2009
20 09.	Wireline Log Received KANSAS COM
Notary Public:	
I I I I I I I I I I I I I I I I I I I	UIC Distribution
Date Commission Evniros:/ (0 T-++1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-	UIC Distribution UIC Distribution CONSERVATION KS CONSERVATION KS
Comm	Epp. 06-22-13

Side Two

Operator Name: Co	ontinental Operati	ng, Co	Leas	e Name: _	Emery		Well #: _1	
Sec. 5 Twp	8 S. R. <u>17</u>	☐ East ☑ West	Cou	nty: Roo	ks			
time tool open and or recovery, and flow ra	Show important tops and closed, flowing and shut ates if gas to surface tes aal geological well site re	in pressures, whether at, along with final char	shut-in pr	essure rea	ched static level	l, hydrostatic	pressures, bottom i	hole temperature, fluid
Drill Stem Tests Take		☐ Yes ☑ No		∑ L	og Formatio	on (Top), Dep	oth and Datum	Sample
Samples Sent to Geological Survey		☐ Yes ☑ No		Nan Con			Top 3288'	Datum
Cores Taken Electric Log Run (Submit Copy)		☐ Yes ☑ No ☑ Yes ☐ No		Arbu	-		3304'	
List All E. Logs Run:								
Gamma, CC	L, Cement bone	đ						
			·····					
		CASIN Report all strings se	G RECORE			tion etc		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	W	leight s. / Ft.	Setting Depth	Type o		Type and Percent Additives
Liner	Diffied	4 1/2").5	3329 ^r	commor		60/40, 4% gel
						commor		60/40, 4% gel
			1					
<u> </u>		ADDITIONA	AL CEMEN	TING / SOL	I JEEZE RECORD	<u>.l</u> ,		1
Purpose:	Depth Top Bottom	Type of Cement		ks Used			and Percent Additives	
Perforate Protect Casing Plug Back TD							was produced and the second	
Plug Off Zone						· · · · · · · · · · · · · · · · · · ·		**************************************
	DEDECOATIO	W. D.C.O.O.D						
Shots Per Foot		N RECORD - Bridge Plu potage of Each Interval Pe		e			ement Squeeze Record of Material Used)	d Depth
4	3288' to 3296	T			1500 gal	20%	The state of the s	
4	3302' to 3310				2000 gal	20%		
4	3314' to 3318	· · · · · · · · · · · · · · · · · · ·			II A	91		RECEIVED RPORATION COMMISSION
								EP 2 8 2009
								1
TUBING RECORD:	Size: 2 3/8"	Set At:	Packer	At:	Liner Run:	✓ Yes] No CON	SERVATION DIVISION WICHITA, KS
Date of First, Resumed 4/15/0	d Production, SWD or Enhr $m{q}$. Producing Me	ethod:	Flowing) Pumpi	ng ∏G	as Lift Othe	er (Explain)
Estimated Production Per 24 Hours	Oil B	bls. Gas	Mcf	Wati	er B 35	bis.	Gas-Oil Ratio	Gravity
DISPOSIT	ION OF GAS:		METHOD C	OF COMPLE	TION:		PRODUCTIO	ON INTERVAL:
✓ Vented Sol	d Used on Lease		Perf.	Dually	Comp. Cor	nmingled	3288' to 3318'	
(If vented, Su	ibmit ACO-18.)	Other (Specify)	• 5		•			



24 S. Lincoln Street P.O. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Bill To:

Continental Operating Co.

P. O. Box 52 Hays, KS 67601

Invoice Number: 118458

Invoice Date: Mar 19, 2009

Page:

CustomerID	Well Name# or Customer P.O.	Paymen	t Terms
Cont	Emery #1	Net 30	
Job Location	Camp Location	Service Date	Due Date
KS2	Russell	Mar 19, 2009	4/18/09

KS2		Nussell			119, 2009	4/10/05	
Quantity	Item		Description		Unit Price	Amount	
120.00	MAT	Class A	Common		13.50	1,620.00	
80.00	MAT	Pozmix			7.55	604.00	
7.00	MAT	Gel			20.25	141.75	
500.00	SER	Handling	3	-	2.25	1,125.00	
45.00	SER	Mileage	500 sx @.10 per sk per mi		50.00	2,250.00	
1.00	SER	Cement	Back Side	1	991.00	991.00	
45.00	SER	Mileage	Pump Truck		7.00	315.00	
				ange to the control of the control o			
					REC KANSAS CORPOR	EIVED ATION COMMISSION	
					SEP	2 8 2009	
			Emery 1-16 of New 1 Pub youth down - New 1 Subtotal	Weil	CONSERV WIC	ATION DIVISION HITA, KS	
ALL PRICES A	RE NET, PAYABL	E	Subtotal			7,04 6.75	
30 DAYS FOLI	LOWING DATE O		Sales Tax			373.48	
	1/2% CHARGED		Total Invoice Amount			7,420.23	
	. IF ACCOUNT I KE DISCOUNT C	- ,	Payment/Credit Applied				
2010 (E.V.), 170		-	TOTAL			7,420.23	

\$ 7409, AS

ONLY IF PAID ON OR BEFORE

Apr 18, 2009

RUSSELL, KANSAS 67665

SER	VICE POINT	ssell
TION	JOB START	

···									·
DATE 3.19.09	SEC.	TWP.	RANGE		CALLED OUT	ON LOCATION		B START 7. 300m	JOB FINISH
LEASE Gren	WELL#	10	LOCATION	D.	ile N Bit	2"1"00	CC	UNTY	STATE
OLD OR NEW (Ci		<u> </u>						ROOKS	1/2 -
OLDOR NEW (CI	rcie one)		15 70	20 RO	Ntopko	1 7/4/EN,4	(to)		
CONTRACTOR &	12 Tai	15			OWNER				
TYPE OF JOB	men+ Ra	CK5-26	· · · · · · · · · · · · · · · · · · ·		CEMENT AMOUNT OR	1,5	08	PAD SK	
HOLE SIZE	134-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-1-	T.D			CEMENT	05	(()		
CASING SIZE	12/5/12		TH	*.*!	AMOUNT OR	DERED SO	0 64	40 4	Intel
TUBING SIZE	7		TH:		e, e i i i i jeden i je	-	1.		
DRILL PIPE		DEI	YH						
TOOL	entigalyjanessa.	DEI	TH						
PRES. MAX		MIM	MUMI		COMMON	120	@	13,50	1620.00
MEAS. LINE		SHO	DE JOINT		POZMIX	80	@	7,50	604.0
CEMENT LEFT IN	1 CSG.				GEL		@	20.25	15/175
PERFS.					CHLORIDE		@	elmelesel melegyellere 	
DISPLACEMENT		· · · · · · · · · · · · · · · · · · ·			ASC		@		
	EQU	IPMENT					@		
						·	@		
PUMP TRUCK	CEMENTI	FR m	. '				@		
	HELPER	-	-		****		@		***************************************
BULK TRUCK	· ICDX DA	1-1-11-1		***************************************			@	· · · · · · · · · · · · · · · · · · ·	
	DRIVER 2	1-H					@		
BULK TRUCK					- , , 		@		
- Artista	DRIVER (Part 1	2 R.			5.00	@	9 9.=	1100
	······································				HANDLING_			2,21-	1/25,0
÷		4			MILEAGE	<u>10 5/6 141 1</u>			2,250,00
		MARKS:						TOTAL	5,740,7
M, x 20 20	OSK 6	bur l	pucks, de	<u> </u>					
4/2/5/2		**				SERV	/ICE		
<u>Cement</u>	1345 C	irculat	ing out a	24					
8-78					DEPTH OF JO				
					PUMPTRUCK				991.00
					EXTRA FOOTA		@_		53 / SW
	*				MILEAGE			7,00	315,00
	~				MANIFOLD_	ř	@.		
							@		
	1.						@.		
CHARGE TO:	Cont	nental	Offenting						1. Ta . 1
STREET								TOTAL	1306.00
CITY	STA	TE	ZIP		p	LUG & FLOA	T EO	HIPMENT	r
					•	DOG WIDO!			_
							KANSA	RECEIVE SCORPORATION	
							@_		
				•			@_	SEP 28 2	2009
To Allied Cement	_						<i>@</i> ~	Oweles a	ef the state in the right.
You are hereby re	-						`డ్డॅం	NSERVATION	
and furnish cemer					·		&	WICHITA	
contractor to do w	ork as is l	listed. Th	e above work	k was		4 - 24 - 24 - 1			



24 S. Lincoln Street

P.O. Box 31

Russell, KS 67665-2906

Voice: (785) 483-3887 Fax: (785) 483-5566

Bill To:

Continental Operating Co.

P. O. Box 52 Hays, KS 67601

INVOIGE

Invoice Number: 118213

Invoice Date: Feb 17, 2009

Page:

1

CustomerID	Well Name# or Customer P.O.	Paymen	t Terms
Cont	Emery #1	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS2	Russell	Feb 17, 2009	3/19/09

Quantity	Item	Description	Unit Price	Amount
120.00	MAT	Class A Common	13.50	1,620.00
80.00	MAT	Pozmix	7.55	604.00
7.00	MAT	Gel	20.25	141.75
129.00	MAT	CD-31	9.10	1,173.90
200.00	SER	Handling	2.25	450.00
49.00	SER	Mileage 200 sx @.10 per sk per mi	20.00	980.00
1.00	SER	Liner	1,159.00	1,159.00
49.00	SER	Mileage Pump Truck	7.00	343.00
1.00	EQP	Butt Weld Float Shoe	312.00	312.00
1.00	EQP	Solid Rubber Plug	60.00	60.00
		PWD shown	·S	RECEIVED ORPORATION COMMISSION EP 2 8 2009 ERVATION DIVISION WICHITA, KS
	RE NET, PAYABLI			6,843.65

30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1568.73

ONLY IF PAID ON OR BEFORE

Mar 19, 2009

Subtotal	6,843.65
Sales Tax	362.71
Total Invoice Amount	7,206.36
Payment/Credit Applied	
TOTAL	7,206,36